
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

1st Month, 1st Week, 2nd  Day Sub domain (i) Exercise 1.1 Q#3,4,5

Q.1. Choose the correct options.   (1x5 = 5)       ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX

(i) The absolute value of real number X is represented by:

ÇÇÇÇ°°°°ŠŠŠŠÅÅÅÅ°°°°ŠŠŠŠ~~~~7777ÃÃÃÃªªªªCCCCÙÙÙÙHHHHYYYY@@@@****ìììì::::
(a) X (b) |X| (c) XX (d) All    Óx

(ii) The absolute value of -21 is: ÅÅÅÅ°°°°ŠŠŠŠ~~~~7777ìììì:::: -21

(a) –21 (b) 21 (c)  21 (d) |21|

(iii) The absolute difference between -7 and -2:

ÆÆÆÆŠŠŠŠggggxxxxyyyy°°°°ŠŠŠŠ~~~~����ÛÛÛÛttttìììì:::: -2 ZZZZzzzzgggg -7

(a) 7 (b) 2 (c) 5 (d) 3

(iv)  The absolute value of 88 is: ÅÅÅÅ°°°°ŠŠŠŠ~~~~7777ìììì:::: 88

(a) –88 (b) 88 (c) both a & b

ŠzâV b Zzg a
(d) 88

(v) The absolute difference between -5 and 1 is:

ÆÆÆÆŠŠŠŠggggxxxxyyyy°°°°ŠŠŠŠ~~~~����ÛÛÛÛttttìììì:::: 1 ZZZZzzzzgggg -5

(a) 4 (b) 6 (c) 5 (d) 3

(vi)  Answer the following questions. ŠŠŠŠgggg`̀̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[ŠŠŠŠ,,,,XXXX
//// Find the absolute value of following. (0.5x4 = 2)

ŠŠŠŠgggg`̀̀̀ffffssssÅÅÅÅ°°°°ŠŠŠŠ~~~~7777¥¥¥¥xxxx™™™™,,,,XXXX
(i)  -36 (ii)  15 (iii)  -100 (iv)  -9

Q.3. Represent the following number on number line.      (1x3=3)

ŠŠŠŠgggg`̀̀̀ffffssss°°°°ŠŠŠŠÃÃÃÃ����ÑÑÑÑíííí6666,,,,ªªªªCCCCÙÙÙÙ™™™™,,,,XXXX

 (i)  (ii)  (iii)  
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